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. Write the duale éf* the Bllowing Problems

anod GW the GomP/emen{'ar)l PCL!Y‘S

(a) Maximize 4x; — 3x, + 8x,
" .Sublectto - 2 x, £ 6
o 45 ;S 14
-12g x35s- 8
G Maximize z()= - 17x, +83%, - 8xy -
' ‘ Subject to C= -*—13x,+45x, + 16x; — 7xg. 2w
- Xy — 18x, . + 30x, S Bt
4y -Sx, S+ xg =- 13 .
~108x, 5 -2 '
~38x, 517

WEx, x50
X5 unrestricted Xg, X720

9 Minimize = z(x) = 3x, — 7x, 4+ BX, +8X5 —  Xg.
Subject to 5x1+ax,+ax,+ax4+2x,+11x,=zoo
SSx,SZO for all/

¥ 9% 424 Gonsider the following LP, where A is an m x

‘matrix. Write the dual of this problem. Using
duality theorem pnove that i the probiem is

- feasible, then the iininimum value of 2(x} In
this problem is finite iff ¢ can be expressed as

. & linear combination -of the row vectors of A.
Using this prove that either Z(x) .Is a conatant
or unbounded below on the set of aolutions of
this problem.

Mlnlmize Z(x)y=cx
Subject to - Ax=bH

Wrr[‘e the M omot fhe Compbmen—[-a?' slaaknegs cona&-ﬁ!om,‘
"Q\» | o imahtj | o | |

Minimize  z(x) = —2x; + 13x, + 3x; — 2x, + 5 + 5x + 10, |
Subject to O Xy= Xy Ay — Xg+ Xg— AXq= 5
- Xy + Xy — 2%5 4+ BXg ~ xy = 1
Xyt Xz— Xy 25~ Xg— 2%, %5 5
B+ Xy F X+ X5+ Xg— Xy = _ 2

xuz0 for all §




